N & O & AF Y A9 N A
20149 = S0l A LB H BAHA
A EAA
HE: HYRIFH (2AL)
chel: ol gyl cholE )
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
S N 4,066,927 4,879,052 N812,125
= 661,093
Dl 714,559
= 349,728
= 2,341,547
HESIEAY (EAHA) 812,069 766,550 45,519
ol 2| 409,049 376,442 32,607
jelals] 409,049 376,442 32,607
101 @1 21| 381,669 348,362 33,307
01 2= 164,111 139,476 24,635
OANZAIZ 2 HH=Z(57H) 57,829
— 53 11,364 x 1 x10A| 2+ x12& 1,364
— 62 9,692 x20H x10A| 2Fx 128 23,261
—-73 8,754 x29H x10A| 2tx 128 30,464
— 82 7,860& *2H *10A| 2tx12& 1,887
-9 7,104 *1H x10A| 2tx 128 853
Oxh22E 106,282
—E2AHA 8,955& %28 x30A| 2t x12& 90,267
~PAARL, BANL, SO
8,955& *23H x2A| 2t x 128 4,944
— BB AH2A 8, 7543 x22H x2A| 2t 12 4,623
—BAHNUA(=E) 8,955% x2H x30A| 2tx 128 6,448
02 JIEt& 2% 217,558 190,625 26,933
OZEEHYAH(EZ2ER) 213,120
—E2AA 800,000& 6 x12& 57,600
—E22AXA 800,000 »16H x12& 153,600
—E2X22> 40,0003 x4H x12& 1,920
QA= (02 1 956
—ANZ2AZ 2L 7,961 *1H *10A| 2tx 128 956
OFHIAAFE(1Y) 3,482
—ANZ2AZ 2 7,252 *1H *10A| 2t 12 871
—x2U2RE 7,252% x1H «30A| 2t 12 2,611
203 Y2 E Y| 8,180 8,280 A100
02 RN R = XY 2,360 2,400 N40
OFJ I At F =& H| 40,000& *59H 2,360
04 2SI L RF=AH| 5,820 5,880 A 60
ORNSgIRF=&Y|
(350,000 x12& )+(5,000& »27H «12& ) 5,820
204 &R = A H| 19,200 19,800 A 600
01 XS RAHFH| 1,800 1,800 0
OXMI AR 150,000& x12& 1,800
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A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
03 SHYRZEHI 17,400 18,000 A 600
ool gsdl 50,0003 x29H x12& 17,400
Jl2& bl 403,020 390, 108 12,912
Jl2&H| 298,497 294,923 3,574
201 2yt 2 Y| 150,537 144,455 6,082
01 At 22l ] 62,352 64,032 A 1,680
OgbtL2dH SHA A 20,622
O 50,0003 x1H 120 6,000
O3 SHAH & 35,730
02 352494l 88,185 80,423 7,762
O2322 ¢ NMAM(22xEE) 48,485
—H=E=2 HIE =2 120,000& *12& 1,440
—d== 22 8AED 30,000 x12& 360
—EAHA(22, g0
450,000 *x23] 900
—&IIANES 29,220
= & 1,200,000& ~12& 14,400
g 2 1,200,000 x12& 14,400
PSIDNE=DN; 35,000 x12& 420
— Mot AIE2 (22, g2)
300,000& x12& 3,600
—RER2 4,770
U2 H 270 400 x12& 1,296
SIRE(0IYLRE)
1,930& 1503 x12& 3,474
— 48X MY LU EHFEE= 4,850
HESE 600, 000& 1 CH 600
AEsl= 500,000& =2LH 1,000
- HEEA 900, 000& 1 CH 900
- AESEE 450,000 =4 CH 1,800
gz 0l&EX 100, 000& *1CH 100
PSIDNE=PN; 450,000 = 1CH 450
— M|t EHH 22 200,000 x12& 2,400
—AUESHUEASSZ 500,000& *13] 500
—sEHN 2u3 445
- &AL 110, 000& *23] 220
EPNI= 75,000& «3CH 225
O% & Hl 11,626
— HALHE A= H|
1,384& %204 *3A|2H%100L 8,304
— HAIHE A= Hl 1,384 %204 *3Al2tx40L 3,322
OAlE &EHl S Xl 7,176
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A EAA
HE: HYRIFH (2AL)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— BAEEBEAAE FHAMI RANES
200,000& x12& 2,400
—HANSA (22, &2
1,000& x2,376m 2,376
— BAAZHH FAES 200,000& = 12& 2,400
OXt & di 20,898
— s 3,390,000 *1CH 3,390
— 2832 (200) 3,068,500& =2CH 6,137
—WEHA 3,707,000 *1CH 3,707
—AESE14MH) 1,916,000& =4 LCH 7,664
202 (4] 120,640 116, 460 4,180
01 2L Y| 43,840 46,860 AN 3,020
OZWHodl(2tLH) 26,380
OZ2UWHodl(22l) 17,460
02 EAHNYI 76,800 69,600 7,200
OXA, B2A UL (ZNH)
200,000& x32H x12& 76,800
307 QI2t0| ™ 22,920 22,008 912
05 A2t E 2 22,920 22,008 912
ORoAHIE2Y =2 22,920
= a DN PN = 100,000& 1790 A~ 12& 20,400
—2AA(2H, ¥gH) 140,000& = 12& 1,680
—SE2AHAFHA CCTV =& 70,000& =128 840
405 XtabF SHI 4,400 12,000 A7,600
01 AL 2B F SHI 4,400 12,000 A7,600
OB 300, 000& = 1CH 300
Ostdidlga & Selxzd =3
550, 000& *2CH 1,100
OBAns2 HOl4a A 200, 000& =104 2,000
OZglEHII (AL aEA olA) 500,000 *2CH 1,000
JIE B (2AX 2) 104,523 95,185 9,338
201 LEr2 A Y| 84,883 73,385 11,498
01 AR 22| I 9,961 9,961 0
Ogets=2d SHAH A 9,961
02 =294l 74,922 63,424 11,498
O332= % HA 48,912
—NEE =22 50,000& *7J A+ 12& 4,200
—&8==2 22 8XEef0 30,000& x12& 360
—&IIANEE 400, 000& *7I0 A~ *12& 33,600
— Aol AIE S 50,000& *7H A+ 128 4,200
—RERZ 7,000 *70 A~ *12& 588
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A2

Y A =] A
& 123l (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
—®)| HHEAH 248
35,000 74 A x12& 2,940
—JIAANE HEEE =5
11,000 *74 &~ «12& 924
—E2xEHE 300,000 *7 4 2 2,100
o9 = di 18,960
— Ol D] 4l wHeky|
25,000 4 x5S *x3H A~ x4 & 6,000
—3E5BAHY =mA YHLtg|
60,000 1801 A~ ~12& 12,960
OA&E &l KXl 7,050
— &3 A X2 500,000 *7H & 3,500
— o2 &Hl KAE4H| 150, 000& 7 A 1,050
— HHAIUHZ ) SXB2H (BAXA)
500,000 504 & 2,500
202 044l 15,840 15,840 0
01 2L Y| 15,840 15,840 0
OZZEHYAI H2H2 =& (2, 22)
20,000 3 x22H x 122 15,840
405 KHoHFE S HI 3,800 5,960 A2,160
01 XAt 2 E F S| 3,800 5,960 A2,160
Qstetalst X} Ha2g SAH (82, d4ah
550,000& =4 LH 2,200
QOIKAUIIA X P (BH=z) 300,000& x2 X 600
OIZ2IEDI (2 thot) 500,000 =2CH 1,000
202 29 L HALSTMHA 3,254,858 4,112,502 N 857,644
= 661,093
J| 714,559
== 349,728
= 1,529,478
B9 HHlA K& 954,313 389,971 564,342
= 613,857
&< 153,464
= 186,992
B2A9ZHE L NHADIBIR=E 13,690 33,340 A 19,650
201 Yot e | 4,240 4,040 200
01 AP 22| H| 3,440 3,240 200
Ogst=2H| 3,440
—sSHEJSAMEIAHELHME
6,000 x10082 600
— KNG BAHASHE M H = 8,000& 1005 800
— GALE & X OtE 2L BA =2 1,500
—X-&dE8MdHsXer=r2 25,000 *x12& 300
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2N

CEPS
HH: B 2Y L AYSIMNUIA
2219 2

ool B MEIA XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—X-dBANIEL A2
30,0003 x2H »43] 240
02 =224l 800 800 0
ONMXZEAI BIWHMS FX 22
800, 000& 1CH 800
301 et d s 450 300 150
09 HALAHIE& S 450 300 150
OHAULT(HEY) FHT 24yl
1,500& 300 450
307 glz2tol & 2,000 2,000 0
01 222724l 2,000 2,000 0
OAZTHAL S XH AF F2HI 2,000
401 AIEHI L 2 CHYI 7,000 27,000 220,000
01 A& HI 7,000 27,000 220,000
OAIZHl 7,000
—BAHXL B2 A 1,000,000 *50H A 5,000
—2AX A BEHAER BAH(EE)
2,000, 000% * 14 & 2,000
aA 222 3,000 5,000 A 2,000
401 A& HIZ 2018 3,000 5,000 A2,000
01 A& HI 3,000 5,000 A 2,000
OFdA dute)| M2 & 23 A 3,000
SHASAE HEAS 16,837 11,613 5,224
101 @124l 6,137 5,013 1,124
40|12t Z2HEE = 6,137 5,013 1,124
O AL & F=dHel 42,7803 13«88 3,765
OBAXA AL & FHEC
42,7803 x2&H #7 I 2 %23 1,198
OSAFBA BA L FHFL
42,7803 *1H + 130 2 23] 1,113
OdMEE= 6,076,000& 1% 61
201 et 2,500 2,500 0
01 At 2t 2l 2,500 2,500 0
Oul=l 2,500
— SAH, 2ZtS AL RIM=E 50,000& =50 2,500
202 O4dl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OsHEAZ ANBI AN AL
60,0003 «4H «10 2,400
405 XHoHF S HI 5,800 1,700 4,100
01 AL EZFH S 5,800 1,700 4,100
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2N 2AA
H: 202 29 ¥ ALBIMUA
2219 2

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

| & 5,500

500, 000& »4CH 2,000
— BAX A (7THA) 500, 000& 7 CH 3,500
OZALA JtAg ekl ¢ 300,000& 1CH 300

SOHEAS M AN AL 920,786 339,018 581,768

613,857
153,464
153,465

U AT

401 AIEBIZ S CHYI 846,816 248,928 597,888

564,544
141,136
141,136

A

01 A& HI 829,782 242,340 587,442

O Bd4 - E= 583,097
388,726
97,186
97,185
119,606
79,741
19,932
19,933
127,079
84,723
21,178
21,178
02 2feldl 11,553 4,960 6,593

O Ed4 - E= 7,184
4,789
1,198
1,197
2,133
1,422
355
356

2,236
1,490
373
373
03 Al S THHI 5,481 1,628 3,853
O 2d4 - B 3,617
2,411
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910
606
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M H

O Hot=2AX A H -
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2N

=]
2

HM: 22
&

12 2% L AVSTAMYIA
Sl HMEY oY Y oo el (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogggasa e 6,300
— REIJGIRASHEY JTH 2
3,000& *1,500H 4,500
—2EHEE WYEAN 7
1,800& =1,0004 1,800
307 21201 A 6,000 6,000 0
01 =L =4l 6,000 6,000 0
OoZgdY JHd=2MMAE =3I
300,000& x52%& 1,500
Oy - AZ0HHEE 2EYE JHE=2 WA=
=S X 300,000& x5 1,500
OZggae HAAS 300,000 5% 1,500
O==Z AL Al 500
Oo2ggsalt 1zt £ NA(HNZH01E 8) 1,000
gty 8 gdE 2 22,790 23,690 A 900
201 Let249] 2,550 2,550 0
01 At 22l 1,750 1,750 0
Oget=gH| 1,750
LU I HSHA =2 3,500 *500H 1,750
02 =24l 800 800 0
OA& &l sl 800
— 00X HAD| X2 700,000 = 1CH 700
—&801& |z 100,000& = 1CH 100
202 Odl 2,400 2,400 0
01 = LHA YI 2,400 2,400 0
OLFHHICHOH HEES BRHSH
60,0003 «1H 20 1,200
OoAgsZA & WREEH(E AIZ)
60,0003 «1H 20 1,200
301 g2 L= 1,900 1,300 600
09 SALAHIEA S 1,900 1,300 600
OZEEZLIHRA = 2tAlHl 2,000& 200 400
O=H dA S 88 822 FIHA 2HAlH]
1,500 *500H »23| 1,500
307 glz2+ol & 15,940 15,940 0
01 92724l 6,840 6,840 0
OZS#HAAAIY L I (ZAIZE  S2t01ES
kA 8) 500
OZdaxNgELLE 10,000& 100 1,000
OLaBAE JINH(SEZA JINMH S) 1,500
Ogg=sd AHF 30,000& x50 1,500
O HAHAL Al S 200,000 5% 1,000
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=]
2

HM: 22
&

12 29 L ALSINUIA
SRl Y oY Y oo e CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 2R84 30,000& x14 *307H Et+43] 36,840
—HusEsasH 30,000& x14 =307 Et*43] 36,840
—SSINELSEAH
40,000& =14 *3074 &*23] 24,560
—ZME &43H 8,000% *12 *307H &+23] 4,912
405 TtHabF S| 19,750 25,600 A5,850
01 AL EFH S 19,750 25,600 25,850
OXEs ASII(S,HEE) 1,650,000 4CH 6,600
Op=2=1VRY 5,000,000& = 1CH 5,000
SUHE A2SI(S. HELH) 650,000 1104 7,150
=8 AS)| 1,000, 000 *1CH 1,000
dEYE ASTUNE W= 3,492 3,298 194
= 1,746
e 1,746
201 Lt 3,492 2,298 1,194
= 1,746
e 1,746
01 At 22l 3,492 2,298 1,194
OZgY 42X w=H| 3,492
= 1,746
s 1,746
sty 22 X MH X 9,564 9,617 AB53
= 4,782
< 2,391
[ia 2,391
301 et a3z 9,564 9,617 AB3
= 4,782
= 2,391
[ia 2,391
01 MI28E+06l= 9,564 9,617 A53
OHOtstdl el 2 A Hl XI& 9,564
= 4,782
< 2,391
e 2,391
sl A ZAlE 23l 27,416 29,826 A2,410
= 13,708
< 6,854
[ia 6,854
307 glz2tol & 27,416 29,826 A2,410
= 13,708
< 6,854
s 6,854
02 RIZHENEXS 27,416 29,826 AN2,410
OstdlZ0I 22 AlE 2GR 27,416
= 13,708
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SRl Y oY Y oo e CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 6,854
s 6,854

MEBHAUHI X EZFZAAZI 22| 2,640 2,640 0
J| 1,320
< 396
s 924

307 glz2tol & 2,640 2,640 0
J| 1,320
= 396
s 924

02 QItFAE XS 2,640 2,640 0
OdEHAXNEZAIY S22 S HI 2,640
J| 1,320
< 396
s 924

Zai2e| At Y 74,169 15,430 58,739
J| 37,085
< 10,094
[ia 26,990

101 @124l 33,793 0 33,793
J| 16,897
s 16,896

04 JIZHHZ2Z 2RSS E S 33,793 0 33,793
Ol a2l At 33,793
J| 16,897
s 16,896

202 O4dl 3,584 2,890 694
J| 1,792
< 896
s 896

01 = LH 4 Hi 3,584 2,890 694
oz A s 3,584
J| 1,792
< 896
s 896

301 et A=z 30,000 1,080 28,920
J| 15,000
< 7,500
s 7,500

01 AR 2Z A 53 30,000 1,080 28,920
OYAYY ZaHati X2 (L3d+M4AHbl) 30,000
J| 15,000
< 7,500
i 7,500

307 glz2tol & 6,792 6,460 332
J| 3,396
S 1,698
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